Topic Three Kinetics– Sheet A

1. Explain why potatoes for companies like McDonalds are cut into French Fries that are long and thin rather than short and thick?

My answer:

Partner’s answer:

2.
Explain why paint thinner or gasoline in an unventilated garden shed is more dangerous in summer than winter?


My answer:

Partner’s answer:

3. Explain why the lid on a tennis ball canister will pop off easier in warm temperatures than cold temperatures.

My answer:

Partner’s answer:

4. You have a choice of what liquid to put into the same tennis canister when the lid is empty – gasoline or water. Which one would be more suited to popping the lid off? Why?
My answer:

Partner’s answer:

5. Explain why cocoa dissolves faster in hot milk than cold milk?

My answer:

My partner’s answer:

Topic Three Kinetics – Sheet B

1. Our body temperature is near 37 degrees Celsius. Why is our body temperature best suited to this temperature? In other words, why is it not lower?
My answer:

My partner’s answer:

2.
Alka Seltzer ™ (for stomach indigestion) reacts with tap water very quickly. Explain one way that you could make this reaction occur more slowly.

My answer:

My partner’s answer:

3.
Explain why fruit can look so refrigerated fresh when we buy it but as soon as it’s left out in a fruit bowl it rots so rapidly.
My answer:

My partner’s answer:

4. Fred buys some hydrogen peroxide to use as a sterilizer. He notes that after three months of storage in his cupboard it has changed to water and has no longer antiseptic qualities. Explain what has happened and what he could do to make the peroxide ‘keep’ longer?
My answer:

My partner’s answer:

5. Yeast is used in the making of bread. Explain why the bread rises faster in warm conditions than cold conditions. 
My answer:

My partner’s answer:

